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— 5277 Hya nyTs 29N
He separates 190 according to the mindset of the owner

OVERVIEW

The X723 cites a 71wn that if someone was appointed to separate 7170 he
should give according to the mindset of the owner. If he does not know his
mindset he should set aside a fiftieth which is the intermediate level of
giving 7m170. If he gave ten more or ten less (a fortieth or a sixtieth) it is a
valid 72170, Our MdoIN explains what is meant by 2"7v2 ny7, and from where
these amounts, of a fiftieth, etc., are derived.

— NPT 1Y IN D193 13%Y 12N H¥a NY A 9y Lures
The explanation of the term n°277 ¥a ny73 is, according to how he assesses
the mindset of the owner, whether he is extravagant (good eye) or miserly
(bad eye).

mooIn explains the various levels of 2"7va nyT:
- 2‘[))‘1 YN NIN UNON MYV N3 90NR) XDV 595 MTN WY N1MIINI U

Concerning 7m0 there are three levels of giving, since there is no
specific amount mentioned in the 77N, for the 7711 merely wrote nswN9

7337 (the first of your grain) without specifying an amount or percentage, and the
term NOWRA -
—NYY Yo ynvunt

Indicates even a miniscule amount is sufficient. Therefore it was necessary (for the
a’12n) to establish (reasonable) percentages for the 770 separation.
=091 NHIINN N9 RPN DIYNNN 13 /N 519391353 D 229 99N 1NY W91 1IHWII)
And in *»52195 790 he expounds the three levels of giving 7m17n; where
"% ' says the middle (average) level is one from fifty (a fiftieth of the
crops should be given for 11n), and he derives it from ‘oo nan -

— DYWNRNN 1 HNN TN NPN IRIYS 233 PENNMY (x5 1a1ma) 29197

' [Others suggest that it should read oIwnpa “5.] The term w2 is used to negate the more obvious
interpretation. Seemingly 2"7v2 ny75 070 should mean that the m%w must ascertain the 2"7v2 ny7 and be
270 accordingly. n1©0IN negates this interpretation and explains that it is sufficient to be 1N according to
the s'm%w estimation of the 2"nva ny.

2 7,1 (2°W9W) 0227 states: ? 10N TJARY T3 NOWRT TN TN 78T DRI, referring to the 0375,

?3"7 "9 mmn

* This is referring to the spoils of war that the Jews captured in 772 naron. The spoils were initially divided
equally between the soldiers and the rest of the Jews (each receiving half). The >"13 then had to give one
fiftieth of their booty to the o>>Y7. This is referred to as 02» n»7N as the P05 writes (112,87 Mwvn) that npImM
' 051 (and levy a tribute unto the Lord).
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As it is written, ‘and from the half of the amount allotted to the Jews, you

should take one drawn out of (every) fifty’; we interpret this to mean -
— DYUNNN AR DN NHNIIN 1P¥NDY 199 DIWNNN /N NN “THIN NHIRY NN Y

Whatever you hold (to separate), you should hold one of fifty, and just as

oon mavan was a fiftieth -
— 572992 N7 1 DIWNNM THNX O NN Yo IN

Similarly all 772y9n you should separate a fiftieth and this is the average
level.

mdoIN continues to explain the remaining two levels:
— NIPN NP7 RPN DIWYN TAN NYI )

And a ‘bad eye’ [a miserly person] gives one from sixty and derives it

from the P05 -
— DYV N 99N1I NAIND ONYYYI DYVNN 999N10 NAIND HIYY (7nn SxpInd) 295947

Which states; ‘the amount of 77170 to be given is a sixth of an 712’8 from a

2277 of wheat and you shall give a sixth of an 125X from a 927 of barely’,
this concludes the ?105. Now n1901n explains -
— SAND I8N NYIY NOINND MUY NM) PRO /) NN PR DIVWHY M1 92N

And a 27 is thirty R0 and an 72X is three PX®, it comes out that a

sixth of an 172°R equals half-a-R®.
— Y PYIINIM "DOwYN 1NN 139977 NENY IMINM NDINN MHYY DNNYI)

And when he separates a sixth of an 725X from a 9217 it comes out to one
sixtieth, which is miserly (compared to a fiftieth).

MooIN continues:
— NOINN NYYY 23NT NP INNN 33 159 XPOI /110 1NN N9 P

And a ‘good eye’ who gives one from forty is also derived from this pyop

where it is written first a sixth of an o9\ -
— ‘°o’ﬂww 9290 ©X0N YINN INP DNPVYY) 913955 DndYY) NP *NN2 ) 22N

55 oo,

® The word MnX in the 7109 is superfluous; it could have merely stated 2w nmi n 7R 1PN, the word TnX
teaches that whenever you ‘hold’ in order to pay a tribute it should be a fiftieth. This cannot refer to wyn
or Twyn NN where the 7710 specifies that a tenth should be given; we therefore apply it to 7m17N.

7 3 p109 reads: .D™YWN NN NYRD DIPYY) DXOND INN NPOND TPYY 107N TN NHIND NN

8 There are three (whole) X0 in an 719°K, which is the same as six half-R0 in an 779°X.

? There are thirty 1°X0 in a ¥; which is the same as sixty half-7X0 in a 927, The 7770 is a sixth of an 79°%
which equals half-a-7Xo (see previous footnote # 7). One half X0 (which is 79°X7 n"ww) from sixty half-nxo
(which is a 9m17) is a sixtieth.

10 The word anwun (as opposed to n*ww) indicates two sixths for the combined two > (thirty 7%0 each)
of o ywn ooun.
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And it is also written in this P02, ‘and you shall give a sixth’; meaning

that the second an s refers to the 2%u1 °27 and the 29w 23 -
— D990 YWY ARD 1917 HIINY NN 1N 11 o341

That for each one there is a sixth (of an 79°X) being separated, that equals

to one 1IR® for two 29977 (one of wheat and the other of barely). This is understood
from the (second) anwwn.
— DYAINNI THN 1NT NN ONPYYI Jy NP NN 2°NI2T NIIND NYY IM

And add the (first) 7987 n>ww that is written in this oD to the answw;

it turns out to be one from forty (for the two half 7x0 [for the two 2>11] plus an
additional half-7Ro -
“:umw 90 Q20N 991N 13”NT PPNRO OYWYY 8N NIND NMNT

equals a 780 and—a-half for sixty 780 which is a 927 of 2>ur and a 27
of 237w (thirty 780 for each 9m1). One and a half from sixty is a fortieth.

SUMMARY

The 7w assesses the mindset of the 2"7v2. The no1a 7371 of a fiftieth is
derived from 027» nm1nn and 7¥0 P 09 1Y (a fortieth or a sixtieth) is derived
from a P10 in PRPI.

THINKING IT OVER

moon explains that we derive a fortieth from the three ‘sixths’ that are
mentioned in the P05 which we assign to two 2™mn of PIww oovn.'
Seemingly we should apply the first sixth to 1v°n, requiring a sixtieth; and
the two sixths of an*ww should apply to a 2>y 0 requiring a thirtieth
for an 719° Py. This is in accordance with how the P09 is written'!"*

"' The 109 writes N"W¥ meaning one sixth (of an 779°X) and then it writes an*w¥ meaning two sixths. We
have now a total of three sixths (each sixth is a half-a-R0) for a total of a X0 and a half. We understand
(according to this interpretation) that these three sixths is the 7m17n for two o n of o wwy o°vn (each
is thirty 7XD) or a total of three half-iXo of 7m17n for sixty X0 of grain. One and half (three halves) from
sixty is a fortieth. [Forty times one is sixty and forty times a half is twenty; twenty and forty is sixty >"»am!].
See ‘Thinking it over’.

2 See footnote # 11.

1 See footnote # 7.

* See n"ma.
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